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Warm-Up
March 30, 2017

Get out your phones and go to:
kahoot.it

Get into groups of no more than 4 people.
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a-h
Plug in pos, neg, and zero

if L = R — identity
if L # R — not identity
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(a tb) (6> -apb+rb2)= a3vb®
(2t7) (25- @)+ 77)= bk
T (419 +q9) = $+33
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3.

a. Use the Pythagorean Theorem to describe the relationship that exists between a, b, and c.

O\lJH\gl:Q}

b. What ratio is equal to cosé ?

C -cﬂsﬂ=/2 /( _—;CCD%B
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¢. What ratio is equal to sin8? , CB'
S0
(- sinb= D /C '7"0 4
7
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d. Using substitution and simplification, combine the three equations from parts a-c into a
single equation that is only in terms of &. This equation is the first of the three Pythagorean
identities.
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d.
a. Divide both sides of the first Pythagorean identity by cos’ @ and simplify. The result is the

second Pythagorean identity.
-

cde B winD -\
e Y CE 6

b. Divide both sides of the first Pythagorean identity by sin’ @ and simplify. The result is the
third and final Pythagorean identity.
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